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DIPLOMA IN VALUE ADDED PRODUCTS 
FROM FRUITS AND VEGETABLES (DVAPFV) 

Term-End Examination 

June, 2015 

BPVI-003 : FOOD CHEMISTRY AND 
PHYSIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. 	Correct the statements as Yes or No. 	10x1=10 

(a) Vitamin A is a fat soluble Vitamin. 	Yes/No 

(b) Deficiency of Manganese causes Goiter. Yes/No 

(c) Tocopherols have anti-oxidative properties. 
Yes/No 

(d) Betalains are natural food colourants. Yes/No 

(e) Aspartame is synthetic sweetener. 	Yes/No 

(f) Excess of potassium causes uneven ripening 
in tomato. 	 Yes/No 

(g) Safe temperature for storing ripe mango is 
25°C. 	 Yes/No 

(h) Lemon is a climacteric fruit. 	 Yes/No 

(i) Sucrose is a non-reducing sugar. 	Yes/No 

(j) Yeast is used in wine preparation. 	Yes/No 
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2. 	Choose the right answer by marking (J) 	10x1=10 
(a) Fructose is a mono/disaccharide sugar. 

(b) Anthocyanin is water soluble/insoluble 
pigment. 

(c) Amylase is a long straight/branched chain 
of glucose molecule. 

(d) Pectin is a gelling/non-gelling agent. 

(e) Linoleic acid is a unsaturated/saturated 
fatty acid. 

(f) Lipase enzyme breaksdown protein/fat. 

(g) Bengal gram has protein around 31%/21%. 

(h) Soft water has less/more than 50 ppm 
CaCO3. 

(i) For chlorination of water, CaC12/Sodium 
hypochloride is used. 

(j) Night-blindness is mainly due to deficiency 
of vitamin D/vitamin A. 

	

3. 	Write notes on the following : 	 5x2=10 
(a) Rancidity 

(b) Balanced diet 

	

4. 	(a) What is the societal role of a food chemist ? 	5 

(b) How does the softening of tissue occur 	5 
during ripening of fruits ? 
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5. Match the word in Column 'A' with Column 'B'. 
10x1=10 

A 
(a) Saccharine (i) An Enzyme 

(b) Tocopherol (ii) Cashew wine 

(c) Vitamin B1 	(iii) Wine preparation 

(d) Ascorbic acid (iv) Water soluble pigment 

(e) Anthocyanin (v) Vitamin C 

(f) Yeast 	(vi) Beriberi 

(g) Fenny 	(vii) Antioxidant 

(h) Catalase 	(viii) Sweetener 

(i) Pruning 	(ix) Retinol 

(j) Vitamin A 	(x) Removal of unnecessary 
part of tree 

	

6. 	(a) Write two minerals required for formation 	2 
of bone and teeth. 

(b) Write four food sources abundant in 	2 
Vitamin C. 

(c) Write four natural food colorants. 	 2 

(d) Write four essential amino acids. 	 2 

(e) Write four water soluble vitamins. 	 2 

	

7. 	Correct the statements by marking Yes or No. 
10x1=10 

(a) Banana is a climacteric fruit. 	Yes/No 

(b) Calyx is the outer whorl of sepals. 	Yes/No 

(c) Hydrochloric acid constitute the acid 
content in fruits. 	

Yes/No 

(d) Cider is prepared from Jack fruit. 	Yes/No 

(e) Rum is prepared from malted grain. 	Yes/No 
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(f) Sinki is fermented product from radish. Yes/No 
(g) Glucose is a non-reducing sugar. 	Yes/No 
(h) Folic acid is a fatty acid. 	 Yes/No 
(i) Wheat has more protein than green gram. 

Yes/No 
(j) Egg white has fat and minerals. 	Yes/No 

8. 	Define the following processes. 
(a) Fermentation 
(b) Respiratory quotient 
(c) Respiratory climacteric 
(d) Micronutrient fortification 
(e) Denaturation of protein 

2x5=10 
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1. 	r-14-Ircifigd -waT917:ra TIT Trm t Fcr A act>W---A7 : 
10x1=10 

(a) rcidl 1-1-f R, air 'Td9.14-9 raefili tl 	ki61/ 41c10 

(b) 4747 	(44 	'011dt (ft) -114-111 tli tl 

A1c11 t I 	 t-Il/ 41(1c1 

(c) d et) t rill lic-i aff-44-*-RT IluTtr4 	t I 	1/41(ici 

(d) ci dlc' -I-1, 31-redW 'OM 41ct) t I 	-1i)/11(1cf 

(e) txrrti:r 014 -441--*-rt t 1 	 kiilpiod 

(f) d4-I le. 	4 Lilnkii 41 	3ftiw-dTi4TITAfffa.m-1* 

	

ITT -ig Trral I 	 .-0/4K-id 

(g) 11* 3171 '")- lis 	!Rd cr)4 WI Vkia• 11(-11-11.1 

25°14. t I 	 41/ 	+Kid 

(h) -ift 44)&4)141 41(1 t 1 	 ti 	/ 110c1 

(i) * 3179-KW 7411 t 1 	/ 41(1c1 

(j) 7:it( •WfIt1)41 lirqtf faitir - chi( \mid( ti 	iiiod 
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2. 	'N 31t WF "clq-1, (✓) 1-fiFT9.-7.r1f-.R I 10x1=10 

(a) T4t7, 441-4/5104)(is -47T t 1 

(b) .21'1E1(19-9, q-9 yi 	iqii 0/ aTTM91411-9 a uict) t I 

(c) 71:174- TI, Tq -1 397:1-191Turtm 
(branched) AMT t I 

(d) 1r4Z7 \cichit'i/A-{ ,31(ichlt'l Wit*.  t 1 

(e) rwerich 311 1., 3T 	/'T aril alWl.  t 1 

(f) .r-4-147 ,Ilw-I, -5M7/qRT t cilscii t 1 

(g) 44 	ilci 711:1 ( chic4 -4) 4"TTITIT 31%/ 21% 31et9.  
il 	cif t 1 

(h) T  Ad. 14 CaCO3  50 t.1Th714. 14 fffPF/31fiTT 
ilcilt1 

(i) AO 	c4.01t1-11chtuf t rriL CaCi2Rir8114 
41cK1 tI*5 	5141 rchif Aldf t I 

(j) rdl'eft 3-0:11-8.  air laWf mini Rid' 1-1-1 t/ cld1P-1-1 
-R 	ch,11 	1-1r t 1 

	

3. 	f ii-Irortgc-1TIT 9").Z fffrUR : 	 5x2=10 

(a) fd-t7 Tffil7T 

(b) 1,1rd7 *Xi 

	

4. 	(a) ITU 	111171 "4-  taw-11\31ch.11 ilf1:1-*1 it t? 
	

5 

(b) 	4,0 •  *T1-4E17* 1(1.-1T-6-*" "1:i tl 17 sIll 	t? 	5  
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5. 	f-1c1N WIC77 : 	 10x1=10 

(a) t/ktrO 	(i) t4r5T-T 

(b) 	t 	(ii) tvzi H 	qt1 

(c) (iii) 	H 	qfl 11-1 ul 

(d) tTOT 3T1 r 	(iv) 	 quIc) 

(e) tktTizirTi 	(v) 	dirli 	 7# 

(f) q 	 (vi) eft 

(g) (vii) "At aff-44-*-Rw 

(h) (viii) 14T*-th 

(i) wfa ta (ix) 	 

(i) Fa 	efi-i-r 	(x) 	31-91a-Frw 

6. 	(a) afTeT 	11 ut 	fcit,31T4Vzi 	7gf-97 	2 

ncal l 9-111 'FM-FUR 

(b) 	 TII• 1177 TITIT 	WK  	2 

fffra-R 

(c) ‘TT 3T-ffdT (gM1 i1c1.)•*-714 'FFfgf7 I 	2 

(d) alfiTzt •kfcril 	•114 f0f+37i 	2 

(e) r 	I 	2 
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7. 	F-1+-1Fri F 	ci CW 	T 7:11 	 10x1=10 

(a) 4)01 .1eildch1C1 	1-hc-f t 1 	 $/ -16 

(b) rT 41:1 	tsiiqi 3T1T4 t I 	 $/ -16 

(c) Lbcif 14 31Wf 

t1 	 $/-16 

(d) f9-1:ffuT chd1 A 	ti 
(e) 714, 1-11R.t5 3-17T7 	cilcn t 

(f) fi, 71-  A -51T7 rchrucicf 	 *-161 
(g) TT47 117 31-EMFTW 7A71 t I 

(h) 411 Oct) 311 , emr aiwr t 	 *-16 
(i) alfw 	X111 t 1 t17-0.  

(j) aft t 	.44-)q1.171 air 3 uf9-7 	ti 

8. 	F-14-16 	4i 	trftil-rftm wr-47 : 

(a) -f-*-11-d-9.  

(b) qc11-f 1-1TTPT9 

(c) qa flcbdctooli 

(d) T 	c1c Li rLdchich(ui 

(e) facpn1cntuf 

2x5=10 
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